
Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

Spare Parts List of SKYTRACKER SLX © 
 

3198097 Cover Lens, Glass 

1198062 RTV Silicone Sealant (3 oz. Tube) 

3250024 Lamphead Housing, Fiberglass 

3118035 Latch (2 req’d.) 

3240463 Nut Plate, Latch (not shown) 

2340462 Catch (mounts to Item 33; 2 req’d.) 

3198098 Lower Gasket, Trimlock 

4151767 Shoulder Bolt, 5/16 x 3/4" 1/420 Thrd. 

4170005 Flatwasher, 5/16" 

3158005 Compression Spring, .720 x .75" 

3158006 Compression Spring, .300 x 2.0" 

4151216 Screw, 1032 x 2" Socket Head 

3250013 Bulb Support Spider 

3161007 Thermal Switch 

3250244 Positive Lead (2 req’d.) 

3250177 Radiation Shield & Anode Clamp 

3250435 Reflector Assembly, Parabolic 

3250055 Blower, 220 V.AC, 50/60 Hz. (2 req’d. for 4 kW) 

319813 Gasket, Blower Outlet 

3240090 Cover Plate 

3240088 Blower Box 

3220031 Insulator Plate 

3250032 Transformer (2 kW) 

3250033 Transformer (4 kW) 

3240084 Support Bracket, Right 

3220030 Ring, Blower Coupling 

3140083 Support Bracket, Left 

39110000 Capacitor 

3240089 Base Plate, Lower Bulb Support 

3250036 RF Coil Assembly (2 kW) 

3250053 RF Coil Assembly (4 kW) 

8161018 Spark Gap 

3198076 Mounting Bracket, Cathode Receiver (2 req’d.) 

3220029 Spacer Block, Bracket (2 req’d.) 

3198078 Cathode Receiver, Threaded 

3198163 Strain Relief Bushing 

3240098 Frame, Welded Assembly 

3240084 Support Bracket, Right 

3140083 Support Bracket, Left 

3240092 Blower Input Cover 

3240091 Blower Port Cover (not shown), 2 kW only 

3130095 Xenon Bulb, 2 kW 

3130052 Xenon Bulb, 4 kW 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/


Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

3198078 Negative Lead (to Power Supply; not shown) 

3198075 Snap Ring 

3220003 Focus Block 

3200303 Cowl Assembly, 7 kW Lamphead 

3200251 Cowl, Welded Assembly 

3198097 Cover Lens, Glass 

1198062 RTV Silicone Sealant (3 oz. Tube) 

4258008 Acorn Nut, 1/420 (3 req’d.); to Item 10 

4257106 Washer, 1/4" Weatherseal (3 req’d.) 

3198096 Lamphead Housing, Fiberglass 

3200287 Cowl Spacer (3 req’d.); with Item 10 

4257104 Washer, 1/4" (3 req’d.); with Item 10 

3250435 Reflector & Ring Assembly 

3250014 Bulb Receiver Assembly (see Figure 1, Items 2730) 

3200169 Lamphead Frame, Welded Assembly 

3250055 Blower, 240 V.AC, 50/60 Hz. 

4253500 Cowl Mounting Screw, 1/420 x 31/2" (3 req’d.) 

3240089 Igniter Base Plate 

3200269 MidFrame Cover Plate (3 req’d.) 

3161018 Spark Gap 

39110000 Capacitor, High Voltage 

3250053 RF Transformer 

3129221 Lamphead Base, Molded 

3200182 Lamphead Extension Cover 

3200274 Blower, 240 V.AC, 50/60 Hz. 

3198163 Cord Grip Bushing 

3250032 High Voltage Transformer 

3240083 Igniter Base Support, Left (2 req’d.) 

3240084 Igniter Base Support, Right (2 req’d.) 

3200031 Insulator Plate 

3200188 Blower Mounting Box 

3200027 Focus Rod 

3200265 Focus Rod Spacer 

4250620 Screw,1/420 x 5/8" Socket Head 

5148004 Retaining Ring, External 

3200224 Ring Assembly, Blower Box 

3240090 Access Cover Plate 

3250117 Lamp Holder 

4151767 Shoulder Bolt, 5/16 x 3/4" 1/420 Thrd. 

4170005 Flatwasher, 5/16" 

3158005 Compression Spring, .720 x .75" 

3250013 Bulb Support Spider, Welded Assembly 

8240047 Terminal Board Mounting Plate, Phenolic 

3121005 Fuse, 20 A. 250 V. (replace with same rated fuse) 

3121038 Fuse, 30 A. 250 V. (replace with same rated fuse) 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/


Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

3121054 Fuse Block 

3108133 Power Factor Capacitor (3 req’d.) 

3110001 Capacitor Clamp (3 req’d.) 

3240538 Capacitor Mounting Bracket 

3270318 Printed Circuit Board Assembly 

4156002 Spacer, PC Board (4 req’d.) 

8240040 Support Bracket, Rectifier Heat Sinks 

8146026 Ceramic Resistor (R1,2), 100 Ohm, 100 W. 

8240254 Heat Sink Mounting Plate, Phenolic 

81247000 Shunt, 200 A. 

3240006 Chassis Plate, Welded Assembly 

8240255 Heat Sink Mounting Plate 

8220032 Heat Sink (2 req’d.) 

8161010 Thermal Switch 

8147004 Forward Diode (CR1,2,3), 150 A. 300 V. (1N3290A) 

6171010 Positive Lead (Red) 

6171009 Negative Lead (Black) 

94129000 Ring Terminal (2 per lead req’d.) 

9198031 Buss Bar (3 req’d.) 

8147001 Reverse Diode (CR4,5,6), 150 A. 300 V. (1N3290AR) 

8133026 Squirrelcage Blower, 230 V.AC, 50/60 Hz. 

9164008 Power Transformer, 2000 Watt; 208/230 V.AC Input 

9164009 Power Transformer, 2000 Watt; 380/440 V.AC Input 

9164012 Power Transformer, 4000 Watt; 208/230 V.AC Input 

9164001 Power Transformer, 4000 Watt; 380/440 V.AC Input 

9164011 Power Transformer, 7000 Watt; 208/230 V.AC Input 

9164007 Power Transformer, 7000 Watt; 380/440 V.AC Input 

8114003 Contactor 

8162001 Tap Terminal Block (6 req’d.) 
 
 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/

